http:/lwww.wemodel.com.iw/

WE-TECH

TECH ARMS '

MADE IN TAIWAN



TEHEER e

BaK e

IREEHE 15

3y
Lt B [ REAiEh




(2) BEE

FE6mmBBIEIEIA A EE R F » BAFIA S IR R 3R [ AR AR A LR E A FLIEA
SEf e HH SR S MR [ A BB [ 4 B T R XEPRAFEF 1 2kg FLHR !

12E A BB o

Ll

SR R R 6B B 38 A58 [ 46 A 5 (LA HERARTE R RIE A RRAIHRRE, BHEs B iR Bl m] 5188

Vv

AEER IR, 58 51 T RARNA ZRFTHARE SRR R, MR TR, LR L, AR LA
Bl IERHRAE



TR SR Bl RTEY T 58 E

SRl E T B S KB SE EVHtEH R EASa MR R B AT =

SERBIEE S A SR R HEABFERARSE '



(4) 1eAAEBA

J \

SERBFEIEAREEAE 5 K ED R IR R AETE B3R

B R EIREAR A AEBAESTRE, #EAS A iR (ERNR]

(5) sieessizsn

{RpEAE F B EpaTEE BENSTEIEN
Safty Mode SEMI-Auto Mode Full-Auto Mode
IRBESHE BB B H—R IR R e R — 5738 - HERET - FREERRE -



(6) /BHEE EX

R T H 2B BERE T HAE BERE THLE OBBEE ZH LB gE
01 |EEE 1|4 | REELE 1 181 |RiEEETEE 1 121| B 1
02 1854 1|42 | RigiEs 1|82 |EiESFiE 1 122|588 2
03 |#rEd 1 |43 |0B29X1 2 |83 | AitESFHEEE 4 |123| RREES 7
04 | e 1|44 | FEEE 1 |84 |HOP UPE-% 1 |124 | /BI%EE 2
05 | S fEiHi 1|45 | LiEEEA 1 |85 |HOP UPEE-7 1 [125|M3X103R 2
06 |EE 1|46 |PREEEREE 1|86 | AEER 1 |126 | A EMAX25 | 2
07 |EEFHE 1 |47 |PIN2X14.5MM 1|87 |l 1127|5128 10
08 | IRiEE =R 1|48 |EEREEE 1 |88 |HOPUPEEEE | 1 [128|EISEAARMAXLS | 2
09 | EEEaTENRS 1149 Eﬁliﬁiﬁmm 22 | 1 |89 |HOP UPsBEsH 1 |129 | EEER7 BMAX35 | 1
10 | #&dt 1|50 | FPEREE 1 | 90 |HOP UP#EfE 1 130 | EEBARAMAX30 | 5
| BRI 1|51 RO 1| 91 | iEHERRERZS 1131 | % 1
12 | AR 1|52 | miEgB 1 | 92 |OB2X1 1132 | $55EAHE 1
13 | MR R 1|53 | mEBEER 1 | 93 | M2X8-+ZEE 2 |133 | EERR 1
14 | B 1 |54 | OBB2X1 1| 94 | KRB RS 1 |134| OFB2X1.5 1
15 | fLEEE 1 |55 | Og5.5X1 1| 95 | BBREfEE 1 {135 | OBR7X1 1
16 | S 1 |56 | M2.5X5F8R 2 | 96 | BBEMEIES 1 136 | Okz4.5X1.5 1
17 | i 1|57 | EROuEE 1|97 | 28K 1 137 | BEES 1
18 | BIEE 1 |58 | EHERERA 1 | 98 | BBREIESRAT 1 [138 | ®HETF 1
19 | BHEEEe 1|59 | EHERESH 1 | 99 | BBREHEIBATREE 1 [139 | miEs 1
20 | Elii 1 | 60 | M2X4%REEIZH: 2 100 |M3X3.5+F 1 [140 | B E 1
21 |2 EEEE 1|61 | FREETHE 1101 | IEAF3X3 1141 | RS 1
22 | ZRENEE 1 | 62 |M3X60+Z 1 [102| liEE 1 142 | FHEEE 1
23 | fikhAsy 1 |63 |M3X10+% 1103 | BEEE 1 143 | EEE 1
24 | R EER 1 | 64 |OIB2.5X15 2 |104 | M2X10+% 2 |144 | [HRESE 1
25 | i ge 1 |65 | OB45X1 1 [105 | FEEEM5X30 1 [145| 3EEA 1
26 | A1 1 |66 | iEse 1 1106 FEEM2.5%4 2 |146| REEAR 1
21 | fuHE-F AR 1 |67 | RiagE 1107 | M3X8TSEM A A 3 147 BESGR 1
28 |M3X8+F 2 | 68 | 1 [108 | & 1 |148 | O3B9X1 1
29 | EERE 1| 69 | Eiziaae 1 |109 | ;EEHi 1 [149 | BREEEH 1
30 | ZEIHEFRAE 1170 | e 1|10 | 7E&EH 1 |150 | O%210X1.25 4
3 | BfEE 1|71 |t 11N REEESA 1151 | M4X16MMEZH 4
32 |M2.5X558 1|72 | BEFEEE 1|12 ERIBERA 1152 | MAX30MMIZ % 2
33 | M2.5X10E58 1|73 | Bt A 1 |113| FZEM2X5 4 |153| OIB3X1.5 2
34 | REFEEE 1| 74 | FIAREE 1|14 BEREE 1 |154| M2.5X8E5E 2
35 | M2.5X5%E8 1|75 | kBB 1 |15 | R 1 |155 | EAR 1
36 |PIN1.5X4MM 1| 76 | ZHitR 1 |16 | BEE RREE 1 156 | PIN4X19 1
37 | ZEBEHEE 1|77 |688 1117 PIN1X18.5MM 1 (157 | M2X3.5(B%) 2
38 | PIN1.5 X 7MM 1|78 | AUk 1 [118|O15X2 1 [158 | M4XEMMiZH 1
39 | miEREARE 1179 | FBE 1 1119/ OBB7X1 1

40 | FEETE 1180 |BhNiE 1 120 PIN2X13 1




109

N7

463



%
I

24

|

m PR{EEFH12kg I Hi
*l (R22 / Green gas)

BEREEHR SRR

O Caution!
A PRECAUTION
NE PAS UTILISER D'AUTRES

)

/\ VORSICHT
Ausschiesslich fur diese Pistole bestimmte
Munition verwenden.(6.0mm Kunststoffkugeln)

(Never store the Magazme above 40C

i DIRIE N

(Never place it near fire)

A2 7B R

®

PROJECTILEE QUE CEUX FOURNIS. () Fare attenzione

O e SRR S S ) 5

[[] Be sure to wear shooting glasses or
Goggle when shooting.

A Toujours porter des lunettes de tir ou de protection
quand vous tirez.

/\ Zum Schiessen stets eine Schutzbrille tragen.

B Asegurese de llevar puestas las gafas de proteccion
cuando dispare.

(O Assicurarsi di indossare lenti di Protezione quando
si spara

Yo 7 RF SR AR 7 R
CNEEAEIRE )

[C] Put the gun beyond the reach of kids.

A Tenir hors de portee des enfants.

/\ Pistole immer kindersicher aufbewahren.

e 7] IR A
[] Don't peep at the muzzle.
A Ne jamais regarder
dans le canon.
/\ Nie in den lauf schauen.

B Jamas mire por el canon
(O Non guardare mai dentro la canna.

B Ponga la pistola fuera del alcance de los ninos.
(O Tenere fuori Dalla portata dei bambini.
K RN x
[C] Don't aim at people even if it is unloaded.
A Ne jamais viser quelqu'un meme si votre
pistolet est vide. @gjﬂ (@]
/\ Auch bei spiel-und Sportwaffen besteht s W)t_:
Verletzungsgefahr. Auch ungeladen nie
auf einen Menschen oder ein Tier richten!
B No apunte a personas, incluso descargado.

(O Non puntare mai verso le persone anche se la pistola
scarica.

€
Ex
*%T%éﬂjlﬁ‘aﬂ T AR
TR HE—
(| Don't touch the trigger until the v
moment of shooting.
A Ne jamais appuyer sur la gachette le rearmement.
/\ Abzug erst dann beruhren,wenn Sie zum Schiessen
bereit sind.
B No toque el gatillo hasta el momento del disparo.

O Non toccare il grilletto fino al momento di sparare.

Yo T SR i T
LSRN SRIIVE T =
] After making sure that there is nobody nearby.
A Toujours etre sur qu'il n y a personne dans
la trajectoire de votre tir.
Z\ Vergewissern Sie sich vor dem Schiessen stets,
dass niemand getroffen werden kann.
Il Antes de apuntar aseguese que no hay nadie cerca.

(O Assicurarsi semper che non ci sia nessuno sulla
traiettoria di tiro.

Yo AR E B E
T4 fahi

[ Avoid a rough operation.
A Ne jamais jeter le pistolet

quand il est arme.
/\ Geladene Waffe stets mit Respekt

Behandin. Nicht werfen oder unsanft Jandhaben.
B No tire ni lance la pistola, se puede disparar.
(O Evitare azioni brusche.

Fe AR 7 R, T 3 W e o S A2 R SR04 kTR AR

e NI » RERFSRIE A - T T

[[1 When the gun is not in use, remove
the magazine and unload BB pellets.
A Quand vous ne I'utilisez plus,bien
Faire attention de retirer le chargeur

et de le desarmer.

/\ Zum Aufbewahren Magazin entfernen und 1
Kugeln herausnehmen.

B Cuando no se este utilzando la pistola, saque
todas las bolas.

(O Quando I'arma non e in uso, estrarre il caricatore
e scaricare i pallini.

O\.‘
38~

‘)A ﬁ ‘J’ /3". $‘I§

[] Miss handle the airsoft gun may condition serious injure or death. Please read the safety instruction before use.

(Never place it directly under sunshine)



